[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

-

"

Ratio

e
"

e == o mamah LR RARAE L M RAALN RAALS I

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_mKkFit_baseline

Eroend — DQM_mkFit_baselinesiter
ICIeNd __,__ DQM_mkFit_TT_RetrainV2_WP1_6iter_ep3

N 0.

R S e S

w0 . . . . .

> 0.08------ e R i oo :

> : : : : :

2 : : : : :

TRl S | S A

= :

£ 0.06-

5}
0.05%--
0.04}-
0.03fft-
0.02k -
0.0 ;

o) =N

....................................

..........................

...........................

i

TTTI [T+

v

'3

F——
F——.

Ratio

1.

P - - bt~ - Sddd

10 20 30
TP vert z (cm)

-30 -20 -10

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
9.035
2y
c0.03
@
8.025
(0]
0.02
0.015
0.01
0.005

10

Ratio

N U P
: AR
- TEA T I R
r " . -+ -+
s i g 3
P +++H11T 1 -

1.1

|
N
o
|
[N
[6,]
|
=
o
|
6]

Sim. PV z (cm)



	Contents
	Page 1


